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QUESTION 1

A technician recently applied a patch to a working server. After rebooting, the technician notices the server is unable to
connect to a nearby database server. The technician validates a connection can be made to the database from another
host. 

Which of the following is the best NEXT step to restore connectivity? 

A. Enable HIDS. 

B. Change the service account permissions. 

C. Check the rewall rules. 

D. Roll back the applied patch. 

Correct Answer: D 

Have to bring server back up before troubleshooting. 

 

QUESTION 2

A storage engineer responds to an alarm on a storage array and finds the battery on the RAID controller needs to be
replaced. However, the replacement part will not be available for 14 days. The engineer needs to identify the impact of
the failed battery on the system. Which of the following best describes the impact? 

A. The read and write performance will be impacted. 

B. The read performance will be impacted. 

C. The performance will not be impacted. 

D. The write performance will be impacted. 

Correct Answer: D 

 

QUESTION 3

A server administrator purchased a single license key to use for all the new servers that will be imaged this year. Which
of the following MOST likely refers to the licensing type that will be used? 

A. Per socket 

B. Open-source 

C. Per concurrent user 

D. Volume 

Correct Answer: D 
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This is the most likely licensing type that will be used because volume licensing allows a single license key to be used
for multiple installations of a software product. Volume licensing is typically used by organizations that need to deploy
software to a large number of devices or users. 

References: https://www.microsoft.com/en-us/licensing/licensing-programs/volume-licensing-programs 

 

QUESTION 4

A server administrator is creating a script that will move files only if they were created before a date input by the user.
Which of the following constructs will allow the script to apply this test until all available files are assessed? 

A. Variable 

B. Loop 

C. Comparator 

D. Conditional 

Correct Answer: B 

A loop is a script construct that allows the script to repeat a block of code until a certain condition is met or for a
specified number of times. A loop can be used to apply a test to each file in a directory and move the files that meet the
criteria. 

For example, in a bash script, a loop can be written as: 

#!/bin/bash 

# Ask the user for the date 

echo"Enter the date (YYYY-MM-DD):" 

readdate 

# Loop through all the files in the current directory forfilein* 

do 

# Check if the file was created before the date 

if[[ $(date-r"$file"+%F)
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